EDIFICIO " A2 "

APPARTAMENTO 4
superficie superfici
locale e finestre | rapporto
soggiorno 5,300/ 5,500 29,150
0,900| 2,400 8,000 17,280
adeguata per
0,900, 2,400 5,000 10,800|aggetto
adeguata per
0,900, 1,500 5,000 6,750|aggetto
29,150 34,830
cucina 5,500/ 3,250 17,875 0,900/ 2,400 2,160
0,900, 1,500 1,350
3,510 1/5
servizio 2,400/ 1,650 3,960, 0,700, 0,700 0,490 1/8
camera 3,500| 4,300 15,050 0,900/ 2,400 2,160 1/7
camera 3,800 2,900 11,020 0,900/ 2,400
2,350 1,200 2,820
13,840 2,160 1/6
camera 3,500 2,500 8,750
1,500, 0,450 0,675
1,000, 0,450 0,450
1,300/ 0,40/2 0,260
10,135 0,900/ 1,500 1,350 1/8
servizio 2,200 1,900 4,180, 0,900, 2,400 2,160 1/5
servizio 1,900, 1,800 3,420/ 0,700, 0,700 0,490 1/7
disimpegno 3,680, 0,000, 0,000 0,000




EDIFICIO " A2 "

APPARTAMENTO 5

superficie superficie
locale finestre rapporto
soggiorno 3,500| 5,975 20,913, 0,900/ 2,400 2,160
0,900| 2,400 2,160
4,320 1/4
cucina 3,025| 2,950 8,924| 0,900/ 2,400 2,160
1,900/ 1,000 1,900
10,824 1/5
servizio 1,850/ 1,600 2,960/ 0,000/ 0,000 0,000 |vent forz.
camera 4,225 2,950 12,464| 0,900, 2,400 2,160 1/7
camera 2,675/ 3,500 9,363| 0,900/ 1,500 1,350 1/7
camera 3,200f 3,500 11,200, 0,900, 2,400 2,160 1/5
servizio 1,650, 2,950 4,868, 0,000, 0,000 0,000|vent forz.
servizio 1,500 1,800 2,700/ 0,700, 1,500
0,700/ 0,600 0,420
3,120 1,050 1/3
disimpegno 3,160, 0,000/ 0,000 0,000




EDIFICIO " A2 "

APPARTAMENTO 6

lagoetto

rapporto ridotto ad 1/5 della s.f. per aggetto superiore a 3,00 mt

superficie superficie
locale finestre rapporto
soggiorno 3,500| 5,975 20,913, 0,900/ 2,400 2,160
0,900| 2,400 2,160
4,320 1/4
cucina 3,025| 2,950 8,924| 0,900/ 2,400 2,160
1,900/ 1,000 1,900
10,824 1/5
servizio 1,850/ 1,600 2,960/ 0,000/ 0,000 0,000 |vent forz.
camera 4,225 2,950 12,464| 0,900, 2,400 2,160 1/6
camera 2,675| 3,500 9,363| 0,900/ 1,500 1,350 1/7
camera 3,200| 3,500 11,200, 0,900, 2,400 2,160 1/5
servizio 1,650, 2,950 4,868 0,000, 0,000 0,000|vent forz.
servizio 1,500| 1,800 2,700/ 0,700, 1,500
0,700/ 0,600 0,420
3,120 1,050 1/3
disimpegno 3,160/ 0,000, 0,000 0,000
adeguato per




